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LAW
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Democracy and  Federalism are 4.  Assertion (A) : A Bill which contains
essential features of our Constitution a taxation clause besides clauses
and basic feature of its structure. This dealing with other matters may also
observation was made in S.R. Bommai be a Money Bill.
Vs. Union of India by the Judge. Reason (R) : All Bills dealing with
(A) Justice P.B. Sawant taxes are Money Bills.
(B) Justice S.R. Pandyan Codes :
. (A) Both (A) and (R) are true, but
(C) Justice J.S. Verma (R) is not the correct explanation
(D) Justice A.M. Ahmadi of (A).
(B) Both (A) and (R) are true and
(R) is the correct explanation of
According to A.V. Dicey in India the (A).
Rule of Law’ is embodied in (C) (A)is false, but (R) is true.
(A) Article 12 of the Constitution of (D) (A) is true, but (R) is false.
India
(B) ,IAr;!cle 13 of the Constitution of 5. Article 40 of the Constitution of India
naia deals with
(C) Art!cle 14 of the Constitution of (A) Provision for Just and humane
India conditions of work and maternity
(D) Article 21 of the Constitution of relief.
India (B) Living wages etc. for workers.
(C) Duty of the State to raise the
level of nutrition.
When the court declare that certain o .
provisions of the Act as invalid, it does (D) ggggﬁésa{;:n of Village
not affect the validity of the Act and it yats.
remains as it is. The principle is known
as . 6. Article 20 and Article 21 has been
(A) Doctrine of prospective over taken from t_he purview <_)f Article 359
ruling. of the Constitution of India by
nd
(B) Doctrine of severability. (A) 42" Amendment
_ (B) 43 Amendment
(C) Doctrine of pleasure. h
(C) 44" Amendment
(D) Doctrine of Eclipse. (D) 59" Amendment
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fafa

LEERERET

faeiuer & | 98 TH.AR IS SHY YRT 9y
T fop —gramedier = R T o 2

(A) =TT d g

(B) =TI UE.3AR, qigA

(C) =iy Sug, 5|

(D) =TT TUH, STt

T TR % IR, WRd H “fafy @
I feRe T & 2

(A) YRR TaEH T 3T 12
(B) RdM Tfqe= & =T 13
(C) 9RA Hae™ & T[T 14
(D) YRA T & 3T 21

ST R ST & F 3Tl 3Ty
T AT & O Jg T P SEar
Tfed e AT AR A AW ®A e | TE
fagim P A g ?

(A)  wiaserRt fafoi = fagia
(B) TSROl T g
(©) Faw fagm

(D) TRifed & = g1
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4.

A: T IS H UuEN (75) Sg-{aehedid U9 € | edeh U &t (2) 3§ | qelt v e € |

At (A) : 5 fadgs § e TS &
I 3 Tl § Tty @ &
a1 o Toeren 8 Wehel &

HROT (R) : H Y Frt-ad T e g
T8 € |

YA

(A) (A) 3R (R) 3 & & T (R),
(A) F T A TE T |

(A) 3R (R) 31 T7 € 311 (R), (A)
T AT |

(A) A T, R (R) T & |

(B)

(©)

(D) (A)TTE, ] (R) 3T E |

TR ST T SR 40 Tohae et & 2

(A) FR T TR T T aRREfdE
T T T o fordt Hrerer

FHERT o o1 e Tt

T[T 1 Y190 el o & o S@H
e

T Ul 1 e

(B)
(©)

(D)

3T 20 TAT IS 21 WRAE W= &
TS 359 & &7 T fohgeh g7 foram man € 2

(A) 428 TeieH
(B)  43at GuteH
(C) 44t Tute
(D)  59at GeME
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10.

11.

The Chairperson of Delimitation

Commission

(A) Justice Kuldeep Singh
(B) Justice R.S. Sarkaria
(C) Justice R.S. Pathak
(D) Justice S.N. Phukan

Representation of House of People is
based on

(A) Literacy of State
(B) Area of the State
(C) Population

(D) Community

Find correct answer :

Administrative law is the law relating
to the powers and procedures of

(A) The Parliament

(B) The Legislature

(C) The Administrative Authorities
(D) Judiciary

Find the correct answer :
The principles of natural justice are :
(i) No person can be judge in his

own case.

(i)  No person shall be condemned
unheard.

Codes :

(A) only (i) is correct.

(B) only (ii) is correct.

(C) (i) and (ii) are correct.

(D) None of the above are correct.

Find correct answer :

Administrative Tribunals exercises :
(A) Purely Administrative functions
(B) Purely Judicial functions

(C) Purely Legislative functions
(D) Quasi Judicial functions

Paper-I111

12.

13.

14.

15.

What is the effect of violation of the
rule : “Audi Alteram Partem” on an
administrative action ?

(A) Mere irregularity
(B) Nulland void
(C) Aniillegality

(D) Voidable

In which of the following cases, the
Supreme Court held that the principles
of natural justice are applicable to
administrative proceedings ?

(A) M.C. Mehta Vs. Union of India.

(B) Maneka Gandhi Vs. Union of
India.

(C) A.K.Kraipak Vs. Union of India.

(D) Smt. Indira Nehru Gandhi Vs.
Raj Narain.

Find correct answer :

The writ of prohibition may be issued,
when there is

(A) an absence of jurisdiction or
abuse of jurisdiction.

(B) violation of principles of natural
justice and fraud.

(C) any kind of contravention of the
law of the land.

(D) all of the above.

Find correct answer :

The writ of certiorari necessarily

implies that

(A) An error of fact, cannot
corrected.

(B) An error of law apparent on the
face of the record, can be
corrected.

(C) Violation of natural justice.
(D) None of the above.
D-58-12



10.

11.

TR ST T 37ereT &

(A) =T ST e

(B) T 3T, TH, TRHINAT
(C) eIt 31, U, Ui
(D) AT TH, T, B

A T ol AT fohe o2 emaia & 2
(A) TT H FERAT

(B) TTH &

(C) SHE=m

(D) W

W fafg Fefafad & o 3k &
fatyar 9 grafud fafa &

(A) F&

(B) Taeem

(C) Tk erehRY
(D) =T

@Wﬂﬁ'&:
e = o fasia w2

(i) =g o =fF oy T % a” H
AT TE & qehel & |

(i) g o SR TR GG & ST (3T
3T Tl AT ST FheAT € |

ETE

(A) e (i) T E |

(B) e (ii) W ¥ |

(C) (i) 3 (ii) ST W& & |

(D) ST § Y HE TE T & |

@Wﬂﬁ'&:
ERIRIEERDIE BETu

(A) 5 TG HE A |
(B) I —esh & B € |
(C) 5 STk b Rl & |
(D) STF-NH F B € |
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12.

13.

14.

15.

‘T T H o g T & st 6
TR el T T 3T TSl & 9

(A) A= AT
(B) 3% qun LA
(C) 3

(D) IO

frfoad @ ¥ o a5, Fares = o
Tg freita foran o6 =i = & fogi
e HrdTeal § STHEsT § 2

(A) T HEd S RT T
(B) TSR T S R 9"
(C) Udh hsh -9 9RA |
(D) i S e Tl S ST ARTE0

G%Qf_ﬁﬂ'aﬁ'lgﬁ:

Ty 6 R da ST <l ST Febel & 51
(A) SiyFmRar @ ARHR &) @
STARATT AT SRR T EUANT
(B) Qe = % Tagid 1 tfashqor (3

SeeTE) 31X e

(C) <1t fafyy =7 femdll ot e T Sooie
(D) Su Wt |

TE ST e

3o e o Afarder A ©

(A) T FF Ffe B GIRT F& ST Tha
g

(B) shwrE # ¥ & W N A
I GURT ST Gehel |

(C) T =/ T Soote |
(D) UG H I HE & |
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16.

17.

18.

19.

“Common law is essentially a Judge
made law”.

This opinion was expressed by
(A) Pollock

(B) Austin

(C) Paton

(D) Salmond

Match the following :

List—1 List—11
a. Enacted law 1. Legislation
b. Case law 2. Agreement
c. Customary law 3. Precedent
d. Conventional law 4. Custom
Codes :

a b c d
A 1 2 4 3
B) 1 2 3 4
© 1 3 4 2
) 3 1 4 2

State the legal status of Hindu Joint

family.

(A) Hindu Joint family is a legal
person.

(B) Hindu Joint family is a natural
person.

(C) Hindu Joint family is both a legal
and natural person.

(D) None of the above.

“Case-law is gold in the mine-a few grains
of precious metal to the tons of useless
matter, while the statute law is coin of the
state which ready for immediate use”.
Who gave this statement ?

(A) Bentham
(B) Salmond
(C) Kelsen
(D) Holland

Paper-I111

20.

21.

22,

23.

“Law is the guarantee of the conditions
of life of society, assured by the States’”
power of constraint” who said it ?

(A) Dvguit

(B) Ihering

(C) Savigny

(D) Ehrlich

Match List — | (Legal Right) with
List — Il (Nature of Legal Right) and
select the correct answer by using the
codes given below the lists :

List—1 List—11
a. Time barred debt 1. Personal
Right
b. Right to 2. Rightin
reputation Personam

c. Right to physical 3. Imperfect
integrity Right
d. Rightarising out 4. Rightin

of a contract Rem
Codes :
a b c d
(A) 3 4 2 1
B) 3 2 1 4
) 2 3 1 4
(D) 3 4 1 2

Right in re aliena means a right over
(A) his own property.
(B) aproperty of someone else.

(C) a property situated in a foreign
country.

(D) a property situated in one’s own
country.

The birth and death of legal person is
determined by

(A) Nature
(B) Custom
(C) Law

(D) Precedent

D-58-12



16. “gm= o (Common law) 3THamEd:
=T e fafy &1
TE T ook R T a1 T &
(A) e
(B) 3feH
(C) A
(D) gmUE
17. 4 % e i
Tt - | =t - 1
a. SMyfHa fafy 1. fagm=
b. AW (Case) Tag 2. WKW
C. e farg 3. gEHoR
d. URERe fafy 4. FE
B
a b c d
A1 2 4 3
B 1 2 3 4
© 1 3 4 2
D 3 1 4 2
18. &< Uger uiNar ot fafes et & -
(A) &5 G TRaR ue Tt =t & |
(B) Tog TF UNAR Ueh MIHTeh 1o & |
(C) forg ¥gw wiew fofuek vd orepferen
T A T |
(D) SWed A 9 HE &l |
19. “AeT fafY (case-law) @F H GHFT & - A
IR () W § aged €1 %k 3 I,
Sateh Wrate faf 59 @ o8 faaew & S
T T % o 9aR & T F foRe
el ?
(A) a=m
(B) dmue
(C) e
(D) @ie
D-58-12

20.

21.

22,

23.

“faf o& AR STe it 9Idl 1 e &
518 79 ol <191 % SR F ded fovarg
TaeTTeRt TR Toparm 1T &7 e Tt et 2
(A) T

(B) =W

(C) aferir

(D) s

gdt | (ot oysR) 1 gE- (fafys
R ot Tl T et i/l 3IX et &
T ¥ T P H ST A BT W W
T
Tt - |

a. 99T A 0T
b. T T AR

=t - 11

1. ATRRTT TR

2. SAfRTaHT
STIHR

C. Wik STESA H 3. 37T AEHR
SIHR

d. dfeRT ¥ Se= 4. AT SHR
ST
ETE
a b c d
A 3 4 2 1
B 3 2 1 4
(C) 2 3 1 4
3 4 1 2

R wforr (re aliena) T SR ¥ ded fFg
W SRR T & 2

(A) @I & g

(B) ot 311 e bt Tty
(C) Tacett v H feore Tt
(D) @I & T o ey g

fafyer =t & S 3R g H FERo
Tohreh 5T TohaT STrefT & 2

(A) Wi

(B) e

(C) fafy

(D) ™
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24,

25.

Read the following passage and match
the column :

The social tolerance towards crime
establishes the concept of crime. No
longer people accept that crime is
related to sin by which people feel
remorse and undergo penance to seek
exoneration from punishment. But
there is a general opinion that crime is
relatively connected to individual
behaviour, which very often changes.
To resolve the conflict, the general
view is that, anything which is
injurious to public welfare is a crime.

Column ‘Q’

i. Russell — Crime is not
absolute as it
depends upon
social tolerance.

Column ‘P’

ii. Black Stone Changing concept
of crime as it is

related to sin.

ii. H.J. Klare Crime is known
through attributes
as it is related to

behavior.

Act which does
not attract law is
not a crime.

iv.G.W. Patton

Correct answer is
(A) i (B) ii
(©) iii (D) iv

Fill in the gap.

Contributory negligence is
defense to a criminal charge.

(A) genuine
(B) accurate
(C) sharp
(D) no

Paper-I111

26.

217.

28.

29.

30.

The accused fired two shots with a
revolver at point blank range at the
Acting Governor but the bullets failed
to produce the desired result because of
some defect in the ammunition or
intervention of leather wallet. What
offence is caused ?

(A) Culpable Homicide

(B) Attempt to Murder

(C) Attempt to harm

(D) None of them

In a case where a minor girl was in the
custody of her mother. Later the
mother obtained divorce from her
husband and thereafter the father
forcefully removed the daughter from
the school. What offence is created by
the father ?

(A) Abduction

(B) Kidnapping

(C) Confinement

(D) Custody

Can a woman be prosecuted for gang
rape ?

(A) Occasionally

(B) As the case demands

(C) Notatall

(D) When she is a party to it

Criminal breach of trust is an offence
which signifies :

(A) Entrustment

(B) Demand

(C) Refusal

(D) Wrongful intention

‘X’ a Police Officer while executing a
warrant of arrest against ‘Y’ asks ‘Z’
to identify “Y’. “‘Z’ knowingly tells that
‘M’ is ‘Y’ and consequently ‘M’ is
arrested. What offence is committed by
AR

(A) Abetment by Instigation

(B) Abetment by Aiding

(C) Abetment by False representation
(D) Abetment by Mischief

D-58-12



24. Taffad TR=se = U 3R T G w@wT

I Rl

Y o Ui AT TEieAdT ST ot
TR M Xl & | 3T A T oo
RN 61 T & o 3y g & ey fordr
AN I SR WAET H ¢ e <8 °
o & Tk | ] 9T A € T ety
TS ®0 § Al 2R & S o
AT UNEfad & S ¢ | GEY S e
FE F o, AT 9RoT T8 ¥ ST P

WAl AT o o ifehReh & 9 ST ¢ |
W P’ | Q)

i, e — Y Uy T T
Tk T8 T
Tt W R
AT |

ii. =¥ ©F — WY H TEoAd
IR AT T8
I Y ¥ |

. I FRER — TR O & SR
AT ST & i
I FRR o
TErET § |

iv.st ooy, e — & el ST A
TR &l el &
WY T & |

ETE

(A) i (B) ii

) iii (D) iv

25. o &H W

SIS SR MW AT J

TR & |

(A) s

(B) I+

(C) e

(D) &

D-58-12

26.

27.

28.

29.

30.

MR 4 FIRA ToTel W Raoerk |
3T e ¥ 31 AR ART W= Mot asa
RO & S R el ik Morl § FS
FH o 1Al THS A G L 3T T |
T ST 3T 2

(A) TR AHIaY

(B) & % A

(C) 3T X ol T

(D) g | q HE TEl

UH THAT STl AT ofgshl 3Tl H
SRR A | I H | 7 3 Ui T Tl o
foram iR o & T = et P SToRT el ¥
Tepetan fear | fuar = s SToRTy foham 9

(A) TR

(B) =uwEm

(C) ™

(D) T

T T TR g TAHR o Tord JehaT et
ST el & 2

(A)  F-

(B) < fop wreret &t Wi &

(C) Toowet Tai

(D) < 9% 3TH JeThR &

fovare @ oIy T oW & S
frfetfiaa =1 e s €

(A) o

(B) =M

C) TR

(D) TR A

‘X’ TH T FAEE €, Y’ i RER
T T IRE AR A 9T ‘2 9 Y’ R
e B TRl § | 77 ST FEdl €
& ‘M’, ‘Y’ & 3R wereey ‘M’ FIReR
ST | “Z7 o ST Al & 2

(A) SHIH FRT BRUT

(B) W@ R ORI

(C) e vtz v

(D) Wit KT JORT
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31.

32.

33.

A married man commits adultery if he
commits sexual intercourse with

(A) A teen aged girl.
(B) Anunmarried woman.
(C) Any woman who is not his wife.

(D) Married woman.

In which of the following cases, the
Supreme Court applied the doctrine of
public trust that the State as a trustee of
all natural resources is under a legal
duty to protect the natural resources.
These natural resources are meant for
public use and cannot be converted
into private ownership ?

(A) M.C. Mehta Vs. Kamalnath and
Others.

(B) M.C. Mehta Vs. Union of India
(Ganga Water Pollution case)

(C) M.C. Mehta Vs. Union of India
(Replacing diesel vehicles by
CNG vehicles)

(D) Church of God (Full Gospel) in

India Vs. KKR Majestic Colony
Welfare Association.

In which of the following cases, the
Supreme  Court  discussed  the
development of the precautionary
principle ?

(A) A.P. Pollution Control Board Vs.

M.V. Nayudu.

Rural Litigation and Entitlement
Kendra Vs. State of U.P.

M.C. Mehta Vs. Union of India
(Ganga Water Pollution case)

(B)

(©)

(D) COlga Tellis (1986) case

Paper-I111
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34. The term “environment” under Section

35.

36.

2(a) of the Environment (Protection)
Act, 1986 means

(A) Air, Water and Land only.

(B) Water, Air, Land and inter-
relationship between air, water,
and land only.

Water, Air, Land, and the inter-
relationship between water, air
and land and human beings,
other living creatures, plants,
micro organism and property.

(D) None of the above.

(©)

Assertion (A) : The right to clean
drinking water and right to free air
to breath are attributes of the right
to life.

Reason (R) : Because they are the
basic elements which sustain life.

Codes :

(A) (A) and (R) are true. (R) is good

explanation of (A).

Both (A) and (R) are true. But

(R) is not a good explanation of

(A).

(A) is true, (R) is false.

(A) is false, (R) is true.

(B)

(€)
(D)

In which of the following cases, the
Supreme Court observed that, ‘When
there is a state of uncertainty due to the
lack of data or material about the
extent of damage or pollution likely to
be caused, then in order to maintain the
ecological balance, the burden of proof
that the said balance will be maintained
must necessarily be on the industry or
the unit which is likely to cause

pollution” ?
(A) M.C. Mehta Vs. Union of India.
(B) Olga Tellis Vs. Bombay
Municipal Corporation.
(C) Taj Trapezium case.
(D) None of the above.
D-58-12



31.

32.

33.

Iy foaifed ge0 Fefeiad & @ g
LT ¢ Al o8 AT/ el €

(A) TereiRmEen =t orght

(B) 3ffaated it

(C) = it T ST 3Tt Uit Tl & |
(D) foafead &t

ffafaa ¥ ¥ 59 9% ¥, &g el |
AE I & G i age e e
THcTeh TR o =t o €0 § T5F S F
A T Toh NIl T < Rl | T
Troit wafieer o et a5et ST 9 & 2

(A)
(B)

TG, el A A der 37

T e S R 99 (T ST
T 1<)

TH G Hedl aF WRA 99 (SISTel el
2 L e e L A R
EaG)]

M hhAL,  HOEH  HieAHl

TAHT THIRIUIH

(©)

(D)

Fefaiad § ¥ 69 915 b, Jareg I@ed 3
Tefoardl (a1 garerD) fagia & faem @
feeamT =l 2

(A) T, oy e 9 S uE A,
RIREY

Wl [AlCRE UUg TAeEeeie s
T 0 T

Lo s R e L L O 2 R e O 21
(T AT Gee o)

ST 2fe (1986) a1

(B)

(©)

(D)
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34. TATEROT (TXRTOT) MUFEH, 1986 I GRT 2(37)

35.

36.

% T TR IS T S ¢

(A) et a1, STeT T 9

(B) A e, 1Y, STHI QT 9, et ud
STHA & a STy

3 A AT 31T ST, UM, G i
T FE & S STy

ST | 9 I T |

(©)

(D)

AWHT (A) © T YSTeT SRR 3R
T o % ford gt arg o SR St
% DR TRt & |

HROT (R) : i o Forud aed & ST e
I T Rl & |

T

[N

(A) (A) 3R (R) SHI 6 € 3R (R), (A)

I SAH AR E |

(A) ¥R (R) s @ & W (R),
(A) i 3T =T TR E |

(A) T ¢ 31X (R) 39T & |

(A) 3T T 3R (R) T |

(B)

(©)
(D)

Frfoiad § ¥ 759 915 1, Jare g@ed
TreiRa fopa for St atfer & Wenferd wgwor =t
| IR H 2Ahg T WA % ITE &
FROT AHFEaar W fEfq @, ar W
TIRREhE | ST T o Tord, 39w
H IR fF HRIT AT ST @ SR 39
TN AT THE W BHT A ST HHOT IR
HAM” 9

(A) THH. Hedl S YR 9

(B) e e s S TR
(C) o ifsaw a

(D) ST H F HE T |
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37.

38.

In which of the following cases, the
Supreme Court directed closing down
and demolition of shrimp industries in
coastal regulation zone and implement
the “precautionary principle” and “the
polluter pays principle and held them
liable for payment of compensation for
reversing the ecology and compensate
the individual for loss suffered ?

(A)
(B)

S. Jagannath Vs. Union of India.

Vellore Citizens Welfare Forum
V/s. Union of India.

(C) M.C. Mehta Vs. Union of India.

(D)

Church of God (Full Gospels) in
India Vs. KKR Majestic Colony
Welfare Association.

In which of the following cases, the
Supreme Court upheld the
governmental direction to close down
the lime-stone mining operations and
quarrying permanently, holding it the
duty of the lessee to protest and
safeguard the right of the people to live
in a healthy environment with minimal
disturbance of ecological balance ?

(A) All India Council for Enviro
Legal Action Vs. Union of India.

(B) Rural Litigation and Entitlement
Kendra Vs. State of Uttar
Pradesh.

(C) \Vellore Citizens Welfare Forum

Vs. Union of India.

(D) M.C. Mehta Vs. Union of India.

Paper-I111
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39.

Match the correct answer from List — B
to the item in List — A.
List— A List— B
a. The (A) Each generation
polluter should be obligated
pays to conserve the
principle diversity of natural
and cultural
resources base so
that it does not
restrict options of
the future
generations.

Affirmative State
Action for efficient
management of
resources and
empowers the
citizens to question
ineffective
management of
natural resources.

(B)

(C) The pollutant not
only has an
obligation to make
good the loss to the
victims but has to
bear the costs of
restoring the
environment to its
original state.

(D) State’s obligation to
devise and
implement a
cohesive and co-
ordinated
programme to meet
its  obligation to
sustainable
development.
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37.

38.

Frfoiad § ¥ 769 915 1, Jare g@ed o
T Taeme 3Teet § S e ol 55
T A F S H AR gl (s
3R Uiegex U fagia i eetad R
facer T 3l 5= wiRkfeafa =t wfdafad e
% {7 GaTasT M & ford 3% & e
% fold = & AideRa B & ol
IR ST 2

(A) TH. ST SHM 9RA 99

(B) ook fafes @ SoideR ®RY S9H
ARd ¥

(C) THHN. HEdl S R T

(D) =9 3w T (F Teen) = e
T Hh AN, USiesh  hiotHl

IAHT THIHUIH

frfoiad § ¥ 759 915 1, Fareg g@ed
T IR WEH UG 3G 56T Sl St w9
T I X o RIS AR & 3R
TRRAHE Tqed ¥ a9 FagH %
TERIYUT AATERT B ST S A o SRR
T TR T G AT USSR T e THT 2

(A) 3t fean HistaeT B THarRT o
T S 9Rd 99

(B) W (N UUE URRRIAHS 5
A 3T IS T

(C) ook TicsHE ok ®RE S

AR 9o

(D) THE. Hedl S YR 9
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39. Al - B ¥ HR B g - A H U § gAferd

gl
=t - A
a. Tyl

PIAA L
1 g

=t - B

(A) 7% WG WFH
TS W STe
o It T
ThIT @ % o
e BT =ed dleh
TE wEr i %

foehear &l Ufdeg T

FGF |

(B) TOEAT % TR He
* o iR
T HEGE S
IR I AT
GO % ST
T W 0T 33 &
forar Sorery e |

(C) wgweh & = fa%
difedr W @
W wA W
IEIE T W
TR A9g ge
B H A B AR
H T B WA
SRR T |

(D) &rvig  fag
SR [ = &
fordr T =t SRRy
¢ T gafoster ud
THfaT HEHE T
Tg foratad &Y |
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40.

41.

42.

“If International Law were only a kind
of morality, the framers of state papers
concerning foreign policy would throw
all strength on moral argument. But as
a matter of fact, this is not what they
do. They appeal not to the general
feeling of moral rightness, but to
precedents, to treaties, and to opinions
of specialists. They assume the
existence among statesmen and
publicists of a series of legal as
distinguished from moral obligations in
the affairs of nations.”

This observation is made by

(A) Frederick Pollock

(B) L. Oppenheim

(C) Hans Kelsen

(D) P.C. Corbett

What are essential tests for the

existence of International Custom ?
(A) Uniform practice of States and
longevity of time period.
Uniform practice of States and
opino juris sine necessitatis.
Uniform practice of States,
longevity of time period and
opino juris sine necessitatis .
None of the above.

(B)
(©)

(D)

In which of the following cases, Judge
Alvarez evolved a doctrine that
General Assembly resolutions are
virtually binding upon States in a
legislative sense ?

(A) South West Africa Voting
Procedure case, ICJ Reports,
1975, p.12

(B) Western Sahara case, ICJ
Reports, 1975, p.12

(C) Anglo-Norwegian Fisheries case,
ICJ Reports, 1951, p. 152

(D) South West Africa Voting
Procedure case, ICJ Reports,
1955, p.67
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43.

44,

45.

46.

Which of the following cases relates to
nationality of an individual which is an
evidence of the link of an individual
with the State ?

(A) Nottebohm case (Leichtenstein
V. Guatemala), ICJ Reports,
1955, p.4

South West Africa, Advisory
Opinion, ICJ Reports, 1971, p.16
Reservations to the Genocide
Convention case, ICJ Reports,
1951, p.15

United States Diplomatic and
Consular Staff in Tehran, 1CJ
Reports, 1980, p.3

(B)
(©)

(D)

The non-permanent members of the
Security Council of United Nations are
elected for a term of
(A) Three years
(C) One year

(B) Five years
(D) Two years

Which of the following has the power

to give effect to the judgment of the

International Court of Justice if a party

to the case fails to perform the

obligations incumbent upon it under a

judgment ?

(A) General Assembly

(B) Security Council

(C) Highest National Court in the
concerned State

(D) International Court of Justice

In which of the following cases,

International Court of Justice refused

to give advisory opinion at the request

of World Health Organization ?

(A) Legality of the Threat of Use of
Nuclear Weapons.

(B) Nicaragua Vs. U.S.A.

(C) Competence of  Assembly

regarding admission to United

Nations.

North Sea Continental

cases.

(D) Shelf

D-58-12



40.

41.

42.

Afcera B, faser Aifd ¥ Tted W TRE
% TARET AR VR A{deh b WS |
W, S U FS G A | S A
T S THRT e 3R ferost st I
¥ ot T H | SBH AW foEmr W
ToHarett agr ey fafuermet & &
T & HEFA H Ade d = fafew
T foemm & 1”7 T8 fohge T & 2

(A) TheRe dicth

(B) T, RN

(C) &1 Fored

(D) TIEr. Fee

SR FE S T o A IieToT

FTE 9

(A) T4 ST FHE TT qAT T Sl S

(B) TSAT S THN W q S SYRE
RilE R SIESIEES]

(C) T~aT o THF W, THATAY i ST
HR S YR WA AAUE

(D) S H W HE T

frffed & 9 9 ag @ omel) ¥,
AT STeEnST | g i faeaa e
T T e o9 & oy foemr ot |
ElZE R

(A) TRIoT Ofver SR HARH  HiHAT
AW, 1CJ Rued, 1975, 9.12
UYEEl @R HWen, 1C)  Ruiew,
1975,9.12

Rared, 1951, 9. 152

et e 4 2 W s e O 2
AW, 1CJ Rued, 1955, 9.67

(B)

(©®) ICJ

(D)

D-58-12
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43.

44,

45.

46.

fraffed & & &9 & AWen AR H
L ¥ Tfa & S o 159 § & &
TS <Y JEI0T § 2

(A) Hicedgn AW (AEeRE  F W
e, 1C) ey, 1955, 7.4
2feor TfvETr STk, TREET 1, 1CJ
Ruiew, 1971, 7.16

S HeR AEHT el o STRET,
ICJ Rurew, 1951, 9.15

T | H T W qHreh 0
AT gaEE W@, IC) R,
1980, 9.3

(B)

(©)

(D)

TgE T W w GET URS & SR
T ferae i o o fraifera ford st & 2
(A) T (B) d=ad
(C) wwaY (D) Trad

IfE T T T T&THR el & AR 39 W
ST TRIRAT bl O A H S TeT &l
T ST AEeE & R @ e
M ! T Ffafaa 3§ e & 2

(A) Hera

(B) T WS

(C) Tafud T § I=aaq TS =AEed

(D) IIRIE =

fefied & ¥ 59 ame #, e
e | fova W e % e W
TR T S H TR R T 2

(A) UHDI H JeAT AT SN ST
ST

TR T W H 7AYo T H
H B

I R HETR U Ve (FR) H
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47.

48.

49.

50.

51.

In which of the following case the

Supreme Court held that “The Three

Talaks” would be treated as a ‘Single

Talak” and not a valid Talak ?

(A) Shamim Ara Vs. State of U.P.
AIR 2002 SCR 4162

(B) Mohd. Ahmed Khan Vs. Shah
Bano AIR 1985 SC 365.

(C) Bai Tahira Vs. Ali Hussain AIR
1979 SC 362.

(D) None of the above.

Ceremonies of Hindu Marriage have
been laid down in Minute details in

(A) Dharma Sutra

(B) Dharma Shastra
(C) Grhiya Sutra

(D) None of the above

To mature as a ground of Divorce the
‘Desertion’, under the Hindu Marriage
Act, 1955, must continue for a
minimum period of

(A) One year

(B) Two years

(C) Three years

(D) None of the above

In which of its following Report the
Law Commission recommended, the
“Breakdown Principle’ to be accepted
as the additional ground of Divorce ?
(A) 70" Report

(B) 71% Report

(C) 72" Report

(D) None of the above

Which of the following
Ceremony/Ceremonies are obligatory
under the Hindu Marriage Act ?

(A) Kanyadan

(B) Panigrahan

(C) Saptapadi

(D) All of the above

Paper-I111

52.

53.

54.

55.

Children born to annuled voidable
marriages or void marriages under
Section 11 and 12 of the Hindu
Marriage Act are :

(A) Hlegitimate

(B) llegitimate but can inherit the
property of their parents.

(C) Legitimate and can inherit all
family property.

(D) Legitimate but can inherit only
the property of their parents.

In which of the following cases, the
court held that “Dower (Mehar) is a
sale price of women” ?

(A) Humara Begum case

(B) Aziz Bano Vs. Mohammed
(C) Shah Bano case

(D) Abdul Kadir case

“lddat” is a period during which a
Muslim woman is prohibited from
marrying on dissolution of marriage.

(A) By Death of husband
(B) By Divorce

(C) Only (A) and not (B)
(D) Both (A) and (B)

Indicate the order in which the
following words appear in the
definition of ‘Human Rights’ as given
in Section 2(d) of the Protection of
Human Rights Act, 1993.

(i) Life
(i)  Liberty
(ili) Equality
(iv) Dignity
Codes :
(A) (i), (iii), (i) and (iv)
(B) (i), (iii), (iv) and (i)
©) (i), (i), (iv) and (iii)
(D) (i), (i), (iii) and (iv)
D-58-12



47.

48.

49.

50.

51.

FtetEd 7 ¥ fohaeh folT waed = =

A fof “AF ToTeh” W “Teh & qoTeh” A

ST 3R SY-FeATe =Tl JHT ST 2

(A) IHT W T ST TT T.3TE.3TR,
2002 THHL3R, 4162

(B) TRWE 3®HE @M W I IH
WL 3R, 1985 TAHL. 365.

(C) ¢ Ay s 2fell gid T.3TE 31T,
1979 THHL. 362.

(D) g | 9 HE TEl

feg fqame & a1t TORE &1 Fetciad o5
Y Ty foear § v fohar T © 2

(A) =g

(B) & v

C) T

(D) ST H 9 HE TE

feg foaw efafaw, 1955 & SFwid dols
FH MR AT T o [T 7 T
frfefad § 9 et e/afa & T ormar
STRY T& T AT 2

(A) THe

(B) a9

(C) d=ay

(D) g H W HE T

frfefed & 9 fovg Rae  fafa-emam 3
T o SRS @™ 3R & €9 §
?g?&aﬁ@wmﬁfw&aﬂwﬁa
0

(A) 70at Raie

(B) 71dt Ruie

(C) 72at R

(D) g H 9 B T&

fog forame arfufram & el e & @ &9
Y qRIE e & 2

(A) FIRH

(B) imRET

(C) Twust

(D) ot Jr

D-58-12

52.

53.

54.

55.

fog foame sfufem @ o)1 11 3R 12 %

AT IO TqaTe ear I faae |

S Ted T A & 2

(A)  ASTES

(B) T febeq 370 HIAT-fUeT sl et
% IR & Tl ¢ |

(C) &Sl @ IRER & T IRaR &
T & A |

(D) ST fohwq act 39 AIAL-Uar
T o AR |

fefefed & & fo6g Al 9 =@eE |
“FER” (WeX) i Hiecte o foshl g o &
TOATE 2

(A) T T B

(B) 3TSIST ST I HigH S

(C) v am =y

(D) 315 T HE

IO Algel &l Fefeiad ¥ 9§ T T
T foaTe T B W faame o 9 ek il €

(A) U@ T T
(B) T 8 W
(C) et (A), (B) Tl
(D) (A) 3R (B) &I

TSP R0 A, 1993 & 4R
2@ H T “HFEIYSR” H U o
Trfefaa Srsst o wehe 81 BT o SicTed
(i) <=
(i) &=
(iii) FA
(iv) TR
&
(A) (i), (iii), (i) 2R (iv)
(B) (i), (iii), (iv) 2R (i)
(©) (i), (i), (iv) =t (iii)
(D) (i), (ii), (iii) 3% (iv)
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56.

57.

58.

59.

60.

Who is the Chairperson of NHRC ?
(A) Justice J.S. Verma

(B) Justice K.G. Bala Krishnan
(C) Justice A.S. Anand

(D) Justice M.N. Venkatachalaiah

Match List — I with List — 11 and select
the correct answer with the help of
codes attached.

List—1 List— 11
a. Magna Carta 1. 1948
b. International 2. 1989
Convention on Civil
and Political Rights
c. Universal Declaration 3. 1215
of Human Rights
d. Convention on the 4. 1966

Rights of Child

Codes :

a b c d
(A) 3 4 1 2
B) 2 3 1 4
) 1 2 3 4
(D) 4 2 1 3

India is not a party to

(A) International Convention on
Civil and Political Rights.

(B) International Convention on
Economic, Social and Cultural
Rights.

(C) Convention on the Rights of
Child.

(D) Optional Protocol to International

Civil and Political Rights.
The ‘Convention on Elimination of All

Forms of Discrimination Against
Women’ was entered into force in the
year.

(A) 1979 (B) 1981

(C) 1989 (D) 1992

The Committee on Economic, Social
and Cultural Rights was established
under ECOSOC Resolution No. 17
adopted on

(A) 28" May, 1985

(B) 30™ May, 1985

(C) 26" April, 1986

(D) 24™ May, 1986
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61.

62.

63.

Which one of the following is the
fourth generation of Human Right ?
(A) Rightto Life

(B) Right to Health

(C) Right to Environment

(D) Right to Communication

Which of the following statement is true ?

1.  Under English Law Libel is
actionable per-se.

2. Under Indian Law ‘Libel’ as well
as Slander are actionable per-se.

3. Under English Law, only “Libel’
is acrime.

4. Under Indian Law both ‘Libel’

and “‘Slander’ are crime.

1, 2 and 3 are correct.

1, 2, 3 and 4 are correct.

2, 3 and 4 are correct.

1, 3 and 4 are correct.

(A)
(B)
(©)
(D)

Match List — I with List — 11 and select
the correct answer by using the codes

given below :
List—1 List— 11
a. Deficiency 1. Section —12
of services
b. Grounds of 2. Section 2(1) (9)
making a
complaint
c. Findings of 3. Indian Qil
the District Corporation Vs.
Forum and Lakshmi Shankar
relief Narain (1999) 9
S.C.C2
d. An ex-parte 4. Section 14
unreasoned
order can be
recalled
Note : Section above are from the
Consumer Protection Act.
Codes :
a b c d
A 1 2 4 3
B) 2 1 4 3
C) 2 1 3 4
(D) 3 4 2 1
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56.

57,

58.

59.

60.

T HASTIHT TN ol 2TETe D & 2

(A) =TT S, T, g

(B) e S, ACAFOE
T T U, S

(©)
(D) AT UH, U, Skt

N1 T G-Il & T gAY SR A

T2 el bl Terad ¥ Wel ST H 957 B |
=i | =t - 11

a. T e 1. 1948

b. e f@fger  wa 2. 1989

TR SRR AT

C. TR QeviEs amon 3. 1215

d. SR ST 4. 1966

[ TN

(=N

(@]

NN WSOT
w R e
w b DdDNO

(A)
(B)
(©)
(D) 1

TR Ffeiiad 1 TR T8 €

(A) IR Fafaet Td TsHitas SRR
ST

IR 3N, QMR adT
HIEpih SATTHRR AT

FIAMTRR AT

SR Tafaer T Tt AR
T Iehicqeh WeIhiet

o foey el Yo RO Sy
o a9 @] Tefa T 2

(A) 1979 (B) 1981

(C) 1989 (D) 1992

e, QAT T4 Ehideh STIBERT T
FMfA ECOSOC (SHUTSTIE) e Tt
17 & SFd ud g8 oAf | T8 A e
YT T T 2

(A) 28 WE, 1985

(B) 307, 1985

(C) 26 3T, 1986

(D) 24 W, 1986

A FP DN WD

D

It

(B)

(©)
(D)

D-58-12

19

61.

62.

63.

frfefad & 9 $IF | AHaTYSR 6 e
gt & 2

(A) Siad & AR

(B) @RI FI SEHR

(C) TATERYT & SIHR

(D) ¥ER & MHHR

7T o QB 1 e 0

1. et fafy 4 sroeiE e ST € |

2. ORAE fafg 7 e1ueiE AR STeEs gHl
T AT € |

3. o fafy d fa% omei@ & ww
AT T |

4. 9RAE fafg § e 3] e <1
AR |

(A) 1,23R3TE |

(B) 1,2,33R4TEE |

(C) 2,33R4TT |

(D) 1,33R4TT |

TE - | B GE - 119 g S $iR
e ¥ 30 e W RS § Wl IW W 9
i

=t - |

a. 9o T At 1.

b. iRa®  IER 2.
F & SR

c. fSem wm =1 3.
o wE STER

=t - 1
R — 12
TR 2(1) (9)

FeaT e
IR T
T FTeRT AR
(1999) 9 THIT2
qRT 14

d. w4,
ELl[Er= ol )
T forar
ST

M ; I YNE ST Geor Affam

q grEfad ¥ |

&

(A)

(B)

©)

(D)

WNDN PP D
AP EFPDNT
NWh~MO
b~ owwa
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64.

65.

66.

Nuisance is a form of Tort
(A) Which is actionable per-se.
(B) Which is not actionable per-se.

(C) Actionable per-se if plaintiff
suffers pecuniary loss.
(D)

None of the above

Assertion (A) : Services rendered to a
patient by a Medical Practitioner,
by way of consultation, diagnosis
and treatment would fall within the
ambit of ‘services’ as defined, in
Section 2(1) (O) of the Consumer
Protection Act.

Reason (R) : Like other professions,
Medical Practitioner should also
conduct himself by using of
reasonable  skill and  care.
Find correct answer using codes
given below :

Codes :
(A) (A)istrue and (R) is false.
(B) (R)istrue, but (A) is false.

(© (A) and (R), both are true, but
(R) is not correct explanation of
(A).

(A) and (R) both are true and (R)
is correct explanation of (A).

(D)

Which of the following is an essential
constituent of negligence ?

1.  Defendant was under a legal duty
to exercise due care.

2. This duty was owed to plaintiff.

3. Defendant committed breach of
such duty.

4.  That the breach of such duty was
the direct and proximate cause of
the damage alleged.

1, 2 and 3 are correct.
1, 2, 3 and 4 are correct.
2, 3 and 4 are correct.
1, 2 and 4 are correct.

(A)
(B)
(©)
(D)
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67.

68.

69.

70.

The Rule of *Absolute Liability’ was
laid down in the case

(A) M.C. Mehta Vs. Union of India

(B) Madras Railways Co. Vs.
Zamidar

(C) K. Nagireddi Vs. State of A.P.
(D) Minu B. Mehta Vs. Balakrishna

Consider the following elements :
1. Infringement of a legal right
2.  Legal damage

3. Anydamage

4.  Existence of legal right

Right to claim damages in Tort would
arise only if :

(A) 1and 2 are present.
(B) 1,2and 4 are present.
(C) 1,3and 4 are present.
(D) 3and 4 are present.

Which statements are correct ?
Directors are

(i)  Trustees of Company
(i)  Managers of Company
(iii)  Agents of Company
(iv) Owners of Company
Codes :

(A) (i) and (ii) are correct.
(B) (ii) and (iii) are correct.
(C) (iii) and (iv) are correct.
(D) (i) and (iii) are correct.

Which one of the following is correct
statement ?

(A) Every agency is partnership.

(B) Every partnership is agency.

(C) Every partnership is limited
company.

(D) Every private limited company is

partnership.
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64. SUAIT ATHE B UFRE :
(A) S & SR E |
(B) ST T & SN & ¢ |
(C) o e & 3FEcT & 5 a|l &l
3Meeh TG & T & |
(D) ST H T Hig oFF Tt
65. ST (A) : ST TLRIVT e ot
gRT 2(1)(0) H IR qar & IR H
Th TEX F R A WM B &
AT, St 31X Faferear ot & |
FHRUT (R) : 3T FaqET Pt oe Fafchedsh
S off e SeTar v uReE e
T STEROT AT e |
T fe T el it Ferar ¥ Stad 3T
Hicel
ETE
(A) (A)TIE 3R (R) T T |
(B) (R) W& & Tl (A) Tord & |
(C) (A) ¥R (R), IF W & o (R),
(A) FT el TLIHT T ¢ |
(D) (A) 3R (R) IFI Wl & 3R (R), (A)
T el T |
66. T T T D T SURT A MY e TEl & 2
1. ufqeel Tqaa gegHr ke % ol
fafess Ffrcame ot |
Tg A st W AT |
aiderst 5 39 R @ fde Tl
e |
4, & 39 IFw W e T owe
TAHIT THAA b T Fer 3R
el FHROT 4T |
(A) 1,23R3TE |
(B) 1,2,33R4TEE |
(C) 2,33R4TET |
(D) 1,23R4TEE |
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67.

68.

69.

70.

“quT Siiger 1 w6 O | widuied
[ERIKIRIW

(A) THH. Tear S YR 99

(B) TSN (G S SHISR

(C) . AniNeet ™ T

(D) W . Hedr S STeHT

e awe W foam Fim

1. Tofue SR & &

2. fats et

3. S ESM

4. Tafer faepr o eiac 0 g

3THT T BT & S H SAHR T U
HUSEIE

(A) 1323 AR E |
(B) 1,23R4HANET |
(C) 1,33R4HANEE |
(D) 33R4SHI AR & |

T Y HIT TEE 2
IBEtIER

(i) O F=EEdE |
(i) o FIEEH B E |
(iii) T FTHTEAE |
(iv) e %@ e § |
ETE
(A)
(B)
(©)
(D)

(i) 3R (i) T T |
(ii) 3T (iii) W& |
(iii) 3T (iv) W& & |
(i) 3R (iii) T T |

TrAfefad & & S 1 T o € 2

(A) TF TS AREN |

(B) ¥ WRRH TSl ¥ |

(C) ¥ WRRRI faftee &l & |
(D) ¥ Ugae fafiee el RRRl € |
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72,

Read the following passage and match
the column.

No suit to enforce a right arising from
a contract shall be initiated in any court
by any person suing as a partner in a
non-registered firm. Registration of
firms is not compulsory. There is no
penalty for non-registration. An
unregistered firm cannot sue any third
person for the enforcement of any right
arising from contract.

Column P Column Q
a. Registration 1. No penalty
b. Non-registration 2. Optional
c. Partner of a 3. Unenforce-
registered firm ability of his
rights
d. Partner of a non- 4. Can sue

registered firm

Codes :

a b c d
A 1 2 3 4
(B) 2 1 4 3
©) 2 1 3 4
(D) 1 3 2 4

Assertion (A) : Doctrine of Indoor
Management protects an outsider
dealing with a company from
irregularities inside a company.

Reason (R) : Doctrine of ultra vires
protects an outsider dealing with a
company for corporate capacity not
mentioned in the objects clause.

Choose correct answer from below :
Codes :

(A) (A)is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) (A) and (R) are true, but (R) is
not an explanation of (A).

(A) and (R) are true, and (R) is
an explanation of (A).

(D)

73.

74.

75.
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Match items in Column — P with items

in Column - Q, according to provisions

of the Negotiable Instrument Act.
Column-P Column-Q

a. Definition of 1. Section 30

promissory note
b. Drawer of cheque 2. Section 45-A
c. Holder’s right to 3. Section 135

duplicate

d. Dishonour 4. Section 4
Codes :

a b c d
(A 2 4 1 3
B 4 2 3 1
C) 4 1 3 2
(D) 4 1 2 3

Which statements are correct ?

(i)  Partners have right to profit.

(i) Partners have right to attend
general meeting.

(iii) Partners have right to interest.

(iv) Partners have right to appoint

Codes :

proxy.
(A) (i) and (ii) are correct.
(B) (ii) and (iii) are correct.
(C) (iii) and (iv) are correct.
(D) (i) and (iii) are correct.

Match an item in List — P with an item

in List — Q.
List-P List—-Q
a. Prohibition of 1. Section 267
assignment of
office by Director.
b. Appointment of 2. Section 312
alternate Director.
c. Disqualifications 3. Section 5
to be a Director.
d. Officer who is in 4. Section 313
default.
Codes :
a b c d
(A) 4 2 1 3
B) 2 4 1 3
) 2 4 3 1
(D) 2 3 1 4
D-58-12



71.

72,

frifera WR=g A O @iX A fed wemt
I GAfeAd
ST A AR ] B h ot
IS a1 TSI ) H SRR % & H fohar
fHRT & FRT Gohe T fohelt =mamerd § 6l 3%
fepan ST | AT o1 defieheoT AfEE TR € |
TSTERUT A SR W HE 5 Tél & | TSt
w1 9 S R oft ST Bl wafaa
F F o fopdt Ay =afo W gepeman &
T Tehell € 2
HieH P
a. ST
b. STaSTrRIOT

C. Siihd  WH W 3. 3T SIER
TER/ATRRR I ST

d. oSl ®H ® 4. §EEH IR
TERR HFEHATE |

AN

- .

e Q
1. g SNReT Tt
2. T

(A)
(B)
(©)
(D)

P NN D
W K~ P N T
N W b~ W o
A~ A W B~ o

AT (A) : RS T H S
Tl T =t o, S e & erT
NAMmTaE & ST Qg Feaed ° gn
TATE |

FHROT (R) : AR 1 (G5 SeT St
H WEASH T H Sooig T R T
FHRANT &7 o o T o T Fere
o Tof TR A E |

T

(A)

(B)

©)

(A) T &, R’ (R) @A T |

(A) 353 & R’ (R) T & |

(A) 3R (R) 3F1 & & T (R),
(A) F S T |

(A) 3R (R) I 9 & 3R (R) (A)
H AT |

(D)

73.

74.

75.
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T fofad STafEm & Wae % AR
HeTT — P | T5T B o™ — Q H Tl o 91
guTeRd &Y

e — P e — Q
a. Wfcs o S R 1, w7 30
b. U & SRR 2. HRT45-37
C. 3@ uid s W W 3. ¥wr 135

R T STIHR

d. 3RO 4, 94
&

a b c d
A 2 4 1 3
B) 4 2 3 1
C 4 1 3 2
)4 1 2 3
DI T HT T & ?

(i) WERER H o H AIFRE |

(i) WERR B SR WET F 90 o
AMYPR E

HEER o S 6l AUHRE |
TERR H A fgs R @
AMYFRE |

ETE
(A)
(B)

(iii)
(iv)

(i) 3R (i) W & |

(ii) 3R (iii) T & |

(C) (iii) 3R (iv) W € |

(D) (i) 3R (iii) W& |

T — P o e o g — Q WS W e
AT Y |

TP TH-Q
a. TR 90 1 Wiqey 1. 9RT 267
b. Jfeqer fRwes = 2. gR1312
frrgfert
c. s s " 3. 4|5
ST
d. T SRR 4. 911 313
agg-c':
a b C d
A 4 2 1 3
B 2 4 1 3
C 2 4 3 1
D2 3 1 4
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